=5 - _ : BIE (& |&itE B -
EMAH (TELHM (HA EMAOREE, |TEHM (EEXRT) ELAERS = ey o = |=E
N0 [ EOORE 1 | (UIHE) S B EEHE (i perMEEE REE e ER s |DERR R B Bk BV RS 5
BEEE |mE =
BT (ER) [MHPH [H0s  |wm|Estk |S#LH. HR4r  |n |ni B m|m
T4 HEE BmA., PmEm=., PIiU, A, hainKa
1ENEREERE 2 —FP Rt HRBHERAL 1-2 |5k —i2010,07.. 16 40, 000 78,371 1815 SRC, |[K##f ExFEEA] 78.5] 78.1
2 ARRE T2 — FERAY S 3 | RANYifE X7 2 iR 1 £ EEE [1999. 3. 1] 23 16,923 17.3471[151F 1,039] _ 1.852|RC M IHE |BEEERT MPIEE
3| FAERE/N—T - 53T — 1B I #iK | HEXaEmA - EREEE (19934108 & 2| 31] 2| 38,000 39,545 1925 [#9993 (810 SRC EBETE- KI7AT vt E - BE2]103.4[110.0
4| KIBEEEX T— SR A A% BRI PR SRR AR X B AR A ES | 4 (K]20064018 ( | 2| 18 7,176 383 1,389|S—CF |BEEHBTE |BEREXE
527480 —mA HERARE R AE XA 1-sth [FEREEE[2004.3Fa | 2| 25] | 19, 466 1635 818]  1.829]RC =HERESR [ABHEEEHM
6| XABARERITA TIHEMHEE I AKX B AR P RE | R EX m A g R E 4% (52015, 085 T | 4] 25 53, 000 15F &85> { 93, 260 # 16(BTX 3 66658BE. iAKE% AKERET (T2 P=|113.9(124,2




